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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

This question paper contains 50 MCQ type objective questions. Each question has four answer options given,
viz. A, B, C and D.

Only one answer is correct. Correct answer will fetch full marks 2. Incorrect answer or any combinations
of more than one answer will fetch — % mark. No answer will fetch 0 mark.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B, C, or D.
Use only Black/Blue ball point pen to mark the answer by complete filling up of the respective bubbles.
Mark the answers only in the space provided. Do not make any stray mark on the OMR.

Write question booklet number and your roll number -:are['u]_l}r in the specified lﬂcauons of the OMR. Also
fill appropriate bubbles.

Write your name (in block letter), name of the examination centre and put your full signature in appropriate
boxes in the OMR.

The OMRs will be processed by electronic means. Hence it is liable to become invalid if there is any mistake
in the questions booklet number or roll number entered or if there is any mistake in filling corresponding
bubbles. Also it may become invalid if there is any discrepancy in the name of the candidate, name of the
examination centre, signature of the candidate vis-a-vis what is given in the candidate’s admit card. The
OMR may also become invalid due to folding or putting stray marks on it or any damage to it. the
consequence of such invalidation due to incorrect marking or careless handling by the candidate will be sole
responsibility of candidate.

Rough work must be done on the question paper itself. Additional blank pages are given in the question
paper for rough work.

Handover the OMR to the invigilator before leaving the Examination Hall.
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1. Oneofthefollowing quantities thatis notaffected
by magnetic field is

{A) moving charge

(B) change in magnatic flux

(C) current flowing in conductor
(D) stationary charge

2. The period of geostationary artificial satellite is
(A) 24 hours
(B) 6 hours
(C) 12 hours
(D) 48 hours

3. Twowires have the same material and length, but
their masses are in the ratio of 4 : 3. If they are stretched
by the same force, their elongations will be in the ratio
of

(A) 2:3
(B) 3:4
() 4:3
D) 9:16

4. A cyclist turns around a curve at 15 miles per
hour. If he turns at double the speed, the tendency of
overturn is

(A) doubled
(B) quadrupled
(C) halved
(D) unchanged

5. A carintially at rest accelerates in a straight line
at 3 m/s?. What will be its speed after 2 seconds?

(A) 5m/s
(B) 3 m/s
(C) 6m/s
(D) 2mis

(3)

1. FeFReskr o @w = FreE e aE
FEiae T e
(A) sfENE i
(B) (519 FITea Ot #R_E
(C) +f=Ee wug Foa ezl
(D) T2z =i

2, G R BeiareR e =
(A) 24 =%
(B) 6<¢Gi
(C) 12 %%t
(D) 48 9%t

3. 9 Geliwi 2R RS 4t oies S Seie
41 3| IR St O 4ibee ifEe T wE, Ol
AT 9F AT T '

(A) 2:3
(B) 3:4
(C) 4:3
D) 9:16

4, QTR AR WA 15 T/ 901 (09 TR
A0E | (7 3 Tt (st T, O OIF #ITS T &39Sl 2
(A) ot
(B) BiRTA
(C) wds
(D) AR

5. 3 fibr/cers? ¢ [T «lb it fmeg o
AR I T OF T9 1 2 GRS AT 3%F e
A

(A) 5 foR/cEs
(B) 3 filt/ces
(©) 6 ftR/cEs
(D) 2 foE/FEe
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6. A particle starts from rest (with constant
acceleration) and acquires velocity 20 m/fs in 5 sec. The
distance travelled by the particle in next 5 sec. is

(A) 50m
(B) 75m
(C) 100m
(D) 150 m

7. Which of the following is an electromagnetic
wave?

(A) Cathod rays
(B) Sound wave

- (C) Ultrasonic wave
(D} Infra-red rays

8. Radioactivity of a sample (z =22) decreases 90%
after 10 years. What will be the half-life of the sample?
(A) 5 years
(B) 10 years
(C) 3 years
(D) 2 years

9. Aquous solution of strong acid and strong base
will be

(A) Acidic

(B) Basic

(C) Meutral

(D) Strongly acidic

10. Which of the following is an amorphous solid?
(A) G.raphite
(B) Quartz glass
(C) Crome alum
(D) Silicon carbide

(4)

6. 93 T7 FFaRE (U ATgAd qEl vE I 9w

5 (TS 20 Tior/ cere siferas! aie 20 1| & = #iagel
5 GRS (3 (@9 fews Ta@ ol 2=

(A) 50 o=

(B) 75 Fit=

(C) 100 {5

(D) 150 fifera

7. TsfResla sy o ofte prim wawe
(A) FRATE TR
(B) *Ri 5q%
(C) *ItAies Tom
(D) TFIES Iy

8. @l Wl T (waEfamst (z = 22) 10 999 =19
90% T TF | & THT TG F© HA? -

(A) 59
(B) 103z
(C) 3 %=
(D) 2 7R

9, =i =hfHE @22 HiEE T 599 1
(A) wifis
(B) e
(C) Frears
(D) e wifds

10. FafReskE g @R wmEe wFe e
(A) s
(B) (Zwioe $16
(C) G it
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11. The enthalpy of fusion of water is 1-435 kcal/
mol. The molar entrophy change for the melting of ice
at0°Cis

(A) 5-260 cal/(mol K)
(B) 0-526 cal/(mol K)
(C) 10-52 cal/(mol K)
(D) 21-04 cal/(meol K)

12. Theamountof the heat released when 20 ml 0-5M
NaOH mixed with 100 ml 0-1M HCL is x kJ. The heat
of neutralization is

{A) = 100 x kJ/mol
(B) — 50 x kI/mol
{C) + 100 x klfmol
(D) + 50 x kI/mol

13. Which one of the following is employed as
Antihistamine?
(A) Omeprazole
(B) Chloramphenicol
(C) Diphenhydramine
(D) Norethindrone

14. 5.2 molal aqueous sclution of methyl alcohel,
CH,OH is supplied. What is the mole fraction of methyl
alcohol in the solution?

(A) 0.050
(B) 0.100
(C) 0.190
(D) 0.086

15. Extraction of Zinc from Zine blende is achieved
by
(A) Electrolytic reduction.
(B) Roasting followed by reduction with carbon.
(C) Roasting followed by reduction with other
metals.
(D) Roasting followed by self reduction.

(5)

11. GrEg TFe*itag aaei=ie %=1-435 keal/mol |
0°C~4 TIF 5TF T 2SAF (AT GG ARReEs wm
= . '

(A) 5260 cal/(mol K)
(B) 0-526 cal/(mol K)
(C) 10-52 cal/(mol K)
(D) 21-04 calf{mol K)

12, 249 20 ml 0-5M NaOH-47 AY 100 ml 0-1M
HCL fif¥rs xm, wan sl ot «iffme == x kJ, OrgeE
i PR Rk P )

{A) — 100 x kJ/mol
(B) — 50 x kI/mol
(C) + 100 x klfmol
(D) + 50 x klfmol

13. fisffRoelr Wk RHiRm fmd =
TGS T Y
(A) efiges
(B) EHENTFHT=
(C) SiRwREim
(D) “R4fETEA

14, FiEs WEEEET 5.2 @FE T 5499 @eT
| & T4 s WEEEEE GE e e
Aty

(A) 0.050
(B) 0.100
(C) 0.190
(D) 0.086

15. & @@ 4w fEne oig Fekm Aesm =
(A) St Remd g qEl
(B) @5 wizwst TR e am
(C) BB +i==s! Sy qigd Rermd &=
(D) TR A=dl HRER A
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16. The number of structural isomers for CgH,, are
(A) 3
(B) 4
© 5
(D) &

17. A solution withpH =15 is than a solution
withpH="17.
(A) 2 times more basic
(B) 10 times more basic
(C) 10 times more acidic
(D) 100 times more acidic

18. The term PVC used in the plastic industry stands
for

(A) Polyvinyl chloride

(B) Polyvinyl carbonate

(C) Phosphorvanadium chloride
(D) Phosphavinyl chloride

19. The isotope atoms differ in
(A) Number of neutrons
(B) Atomic number
{C) Number of electrons
(D) Atomic weight

20. Theage ofafatheris 25 years more than his son’s
age. The product of their age is 84 in years. What will be
son's age in years, after 10 years?

(A) 7

(B) 10
(C) 13
(D) 16
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16. CgH, a7 S13791S SIRCARIES AL
(A) 3
(B) 4
(&)
(D) 6

|
(A) 2@ @ ==aE
(B) 10w i =Eig
(C) 10et @R =z
(D) 100 @i @ =ifEs

18. 25T firsr g PVC *=ifoa ue
(A) “AFHfEaEE ErRize
(B) “AfFfeaiza IHEH
(C) THARSHIETN EFERs
(D) FH-iifEwiza EFaRe

19. “FNIE SRFIGASRER Al oEd =
(A) FCHER 7
(B) <i==I] FarE
(C) TG ARyt
(D) =7 7R/ sirgneifes =g

20, I IMA (GED T AT 25 T3 @ 1| e

TEFAY

(A) 7
(B) 10
(© 13

(D) 16

17. @3 pH =5~ 53 pH = 713 5 o0

(e FHCTd Qe 271 84 | iRle 10 9%g #itg (=g 999



21. Stomata open at night and close during daytime

m

(A) Xerophytes
(B) Mesophytes
{C) Succulents

(D)} Hydrophytes

22. Insectivorous plants grow in

(A) Nitrogen rich soil

(B) Nitrogen deficient soil
(C) Potassium deficient soil
(D) Carbohydrate rich soil -

23, Murmur is a disorder of

(A) SA node

(B) AV node

(C) Heart valves
(D) Pulmonary vein

24, In which of the following plant group do you
observe haustorium? :

(A) All flowering plants

(B) All monocotyledonous plants
(C) All parasitic plants

(D) All epiphytic plants

25. Which of the following statement is correct

(A) Plants have DNA only in nucleus.
(B) Plants have DNA only in chloroplast.
(C) Plants have DNA only in mitochondria.

(D) Plants have DNA in nucleus, chloroplast
and mitochondria.

(7)

TEe

21, FE R a9z OE o AN 9R 6 W
=

(A) CHCAIFEEA
(B) (IAAFEIEGA
(C) AR

(D) TRCEITFIEEA

22, “IoNgs gt o

(A) TEEIEm 7R e
(B) 7HER WegHte gfewm
(C) ~HifEmE werabe JfiEwm

(D) a1 1= e

23, W T A TR

(A) SA GTIe

(B) AV @G
(C) T T
(D) T e

24, FefAlRe SRmefm Ty GRS ZEoIEERE et

(A) 7= A4AT Bfgn
(B) H2 a:draid Bfgn
(C) ¥ =&l Tigw
(D) ¥R == Sigw

25, FaERsslm g ik e

(A) Tferma cFea DNA Syaia ez s |

(B) Tt oF0g DNA S GRS 4 |

(©) BT coa SHRIE DNA QI S0 TG |

(D) Bt cven DNA Tz, @iEidies
O3 ARG AT |
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26. Which of the following plant group is known as
*early land plant’?
(A) Fungi
(B) Pteridophyte
(C) Gymnosperm
(D) Angiosperm

27. Which of the following plant hormone plays a
crucial role in seed germination?

(A) Gibberellin
(B} Cytokinin
{C) Auxin

(D} Abscisic acid

28. Which of the following plant group is also known
as the amphibians of the plant kingdom?
(A) Bryophyte
(B) Algae
(C) Lichen
(D} Gymnosperm

29. The best method to determine the homozygosity
and heterozygosity of individual is
{A) Back cross
(B) Self fertilization
{C) Test cross
(D) Inbreeding

30. Cross-pollination though insect agent is called
(A) Anthropophily
(B) Malacophily
(C) Entomophily
(D) Ornithophily
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26. AL ‘29" Foe Gigw” @ Afaher
(A) =41%
(B) CofrersiEht
(C) T=IE
(D) weIE

27. FalFide Cfen mmmelr g @Rt Ie
WECASI s Sl e e
(A) Ferweafm
(B) TRGBRfRw
(C) =fE3m
(D) =0R_EEE =it

28. fisfeide com Sirgens Bfw s Torg <=1
T

(A) FTAFLG
(B) t4Q@
(C) =T
(D) TedE

29, @SSR g3 iRt B sae
% AEie =

(A) T
(B) FFES
(C) (B35 ==t
(D) Tfafee

30. ATHADS 2T A5
(A) ST
(B) =Tt
() ardiR
(D) ST



31. Juvenile hormone in insects is released from
(A) Protocersbrum
(B) Corpora cardiaca
(C) Corpora allata
(D) Thoracic gland

32. Inhuman, genesthatarepresenton Y chromosome
are known as
(A) Operator gene
(B) Holandric gene
(C) Structural gene
(D) Epistatic gene

33. Number of mitotic divisions required to produce
128 cells from a single cell is
(A) 8
(B) 32
<y 7
(D) 16

34. The basic cyclic pattern of inspiration and
expiration are established h}r a I.'ESPlIﬂtDI}' center within
the .

{A} Cergbellum

(B} Medulla oblongata
(C) Cerebral cortex
(D) Thalamus

35. Which of the following diseases does not spread -

via an insect vector?
(A) Chikungunya
(B) Amoebiasis
(C) Filariasis
(D) Kala-azar

(9)

31. o gredisE ZamE Fife w3 el (At
(A) (RGN
(B) ===Am fEast
(C) FATAI OI=AG!
(D) A= o

32.WYMWNT%W%W&@W

33. 1280 @rmEr «fds ge 9l @i T3
WA @ Rewm wagiae
(A) 8
B) 32
< 7
(D) 16

34, sfaefie oM e Rt weel Fafis =
(& WA B oI S |
(A) oF TR
(B) ! e
(C) =1g e
(D) M

35, ﬁﬁ%ﬁmmmﬁawc@mﬁmwmm
Bewg AT A ?
(A) Fogmefa
(B) =if=mEE
(C) wRAEmH=
(D) FElgd
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36. In allopatric mode of speciation, a new species
forms due to
{A) formation of a few fertile individual that
cannot mate with other members of the
same speciesin the same geographical area.
(B} Genetic drift.
(C) Geographic isolation.
(D) theformationofthe allopolyploid condition.

37. Which one of the following are characteristics of
deuterostomes?

(A) Radially symmetric body

(B) Bilaterally symmetric body

(C) Presence of well defined digestive system
(D) Formation of anus from blastopore |

38. Propolis is used by worker bees for
(A) feeding of larval males
(B) feeding of larval females
(C) repair of damaged bechive
(D) killing of enemy insects

39. The most active phagocytic white blood cells are
{A) neutrophils and monocytes
(B) neutrophils and eosinophils
(C) lymphocytes and macrophages
(D) eosinophils and lymphocytes

40. Comea transplant in humans is almost never
rejected. This is because
{A) Itis a non-living layer
(B) Its cells are least penetrable by bacteria
-(C) It has no blood supply
(D) It is composed of enucleated cells
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36. =TS Pefmies Tigm Tg aefs Tge
Eul
(A) GFE CSIANTETF OO0 &AW 74 g e

e TG T S ARG AR T SIEsEe
TACS AT 9 TE=|

(B) oS TGEh-2 275 |
(C) (BN uFras-ag T |
(D) =niEFAES “ed Tesifea )

37, fafERoskETg Rl = RS R
(A) SRS afewm o
(B) a7 afewm o
(C) Fsifds AfF-irorgg Tifafs
(D) TR (AT SURM 5167

38, =i ciifewa calisiesT T9ge = Sy e
(A) FE ASITE ASTEF G
(B) T AT NSTE &
(C) =oeE GBI (Raiaied &)
(D) *&F AoHS Mu=a &=

39. FierE FWAPHRGS AN (4% TeThe

=
(A) G ¢ T
(B) FEGifE ¢ vefmifts
(C) FTwmRs @ Wy
(D) eIt @ FrmiEs

40, TFRCTCE A afFEem 2m T4 dergre g
TR

(A) it 9o o <=1 v

(B) 2/ (I ROGFEN 4T T WA SO AT
(C) 3TS (@ TEANE (2

(D) =9 ol RtTamREm
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" 41. What would happen if human blood becomes
acidic?
(A) Oxygen-carrying capacity of haemoglobin
is increased.
(B) Oxygen-carrying capacity of haemoglobin
is decreased.
(C) will remain sarmne.
(D) Will be unpredictable.

42, Electrical potential of the brain is recorded by
{A) CT Scan
(B) Sphygmomanometer
(C) ECG
(D) EEG

43. Fats are solid due to presence of
(A) saturated fatty acids
(B) unsaturated fatty acids
(C) Esters
(D) Glycerols

44, Pathogens, when enter in our body, are first
encountered by
(A) NKcells
(B) Dendritic cells
(C) Tcells
(D) B cells

45, Compare the statements [ and IL
Statement I — Synthesis of DNA takes place in the
S-phase of interphase. _
Statement II — Every chromosome, during metaphase,
has two chromatids. :
Choose the correct description
(A) Statement I is correct and II is wrong.
(B) Statement I is wrong and II is correct.
(C) Both the statements [ and IT are correct and
1is not the reason for II.
(D) Both the statements I and II are correct and
I is the reason for II.

41. TF 7& TR AES A I SR A2
(A) B winem I wwel 3% «id|
(B) RmnaiEes wfEem 927 =9el 35 4T
(C) B e I =9l 93E UFE |
(D) <4 S %41 =

42, S TE 1T ot Reg a+i e
(A) CT Scan
(B) Fepsimricamfcms
(C) ECG
(D) EEG

43, THEew I8 59 e o0 1% TifEfen wu
(A) =% TG SpiFe
(B) =HT{& Wit WIS
(C) «oia
(D) far=

44, AR AE SErE 49, T 2y oy
S T, O &
(A) NK @t
(B) (EAgGRHT
(C) T-FM
(D) B-™

45. 1«32 I1 99 I57F Tom St |
I S5REEE S I DNA AwEs =31
11 CGITe 7S 20T Gt b GRwibe <t
AT 3k Fiem

(A) 197 53 AfST @) 11 97 T67 w1
(B) 143 T8I T& 92 I 3 I&Y AT

(C) 19376 <R 11 47 TG TerR AT, 93 |
I, I <3 29 77|

(D) 197 35T G 11 93 TG TOEE AT, 9R
12 IT 99 |
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46. A sexually transmitted bacteria disease is
(A) AIDS
(B) Syphilis
(C) Herpes
(D) Hepatitis

47. With reference to enzymes, which one of the
following statements is true?
(A) Apoenzyme = Holoenzyme + Coenzyme
(B) Holoenzyme = Apoenzyme + Coenzyme
(C) Coenzyme = Apoenzyme + Holoenzyme
(D) Holeenzyme = Coenzyme — Apoenzyme

48. Select the viral disease
{A) Diabetes
(B) Tetanus
(C) Leprosy
(D) Poliomyelitis

49, The maximum volume of air contained in the
lung by a full forced inhalation is called
(A) Vital capacity
{B) Tidal volume
(C) Total lung capacity
(D) Functional residual capacity

50. The primary building blocks of a DNA molecule
arc

(A) Nitrogenous bases, phosphates and ribose
sugar

(B) Nitrogenous bases, phosphates and
deoxyribose sugar

(C) Phosphorous bases, nitrogen and ribose
sugar

(D) Phosphorous bases,

nitrogen and
deoxyribose sugar
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46. GrEBnEEEbte @ AEET @l
(A) T8
(B) Ffefm
(C) ===
(D) AGRERGA

47. Trmed P, Fefale on oo abee
(A) TOAGTEIEN = FENGTEIET + (-gEias
(B) ZAMTEIRA = FCAIGTRLA + (FI-qAenizd
(C) (F-aTEET = SIANAEIET + LETGIE
(D) TAITEIZE = (F~9TEI8 — e Tess

48, @+ ©i2aM 96w st e
(A) TmiEns
(B) o=
(C) @af
(D) ceifFeniZafia

49, TEAET WHRAE A7 @ A I TAPA 4l

(A) Y 4y (R0 T

(B) 2RIZ IR wiwe (GiRwi egw)

(C) 6 FwgAm wwat (B =g weiHE)
(D) fEFmiGsmam =R Tgg == (FEE

@rrgaE FpeHG)

50. DNA &4 4 siois Somma 2o
(A) TIRETE &, TAEE G RS =l
(B) WREGRES 9, TEs 9 TefakEee
!

(C) THTEA (I, 7RG €38 IRlE *Fal
(D) %ﬂﬁﬁm |10 [ O o7 BT
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